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s 9,137,070
HY2FZH (A=) (INEH/IIEH) 54,242 51,909 2,333
Jl23&dl 54,242 51,909 2,333
JlE2zl 54,242 51,909 2,333
201 Let24d] 25,776 24,504 1,272
01 At 22l 23,376 22,704 672
Oget=&H| 18,000
— AR AR2F 7Y 200,000& =128 2,400
—HRFIE MG S £ 1,800,000 *14] 1,800
— AR ME F=EE 8 150,000 <122 1,800
—MREE(ZIF, XU ) 7
500,000& »12& 6,000
— AR ZBEE AEF P2Y
500,000& »12& 6,000
O=2gl 8,000 x14&E 441« 123 5,376
02 =24l 2,400 1,800 600
O3 & HA 200,000& =122 2,400
202 o4dl 25,466 24,405 1,061
01 = LH 4 Hi 25,466 24,405 1,061
SH2E Jl=de X0y
120,000 *14H 128 20,160
OoZdotl(as 4 5)
75,8003 x14H 5 5,306
203 YR =&l 3,000 3,000 0
04 RN2ELRZ=TH| 3,000 3,000 0
ORH2YLRE (YR 152 0I5}
250,000& »12& 3,000
B ES(sgdidsa/2dy - &E) 6,668,852 5,950,037 718,815
= 1,202,543
Xl 505,093
< 496,657
s 4,464,559
g F et 51,708 249,946 A 198,238
= 5,320
< 1,596
s 44,792
gagget 21,068 13,906 7,162
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o234 70,0003 x5 %23 700
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O&tel 23 A O & 5,000,000& x13] 5,000
202 odl 3,200 3,200 0
01 = LH o4 1l 3,200 3,200 0
OXZEAY F& A 20,0003 »2H 40 1,600
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203 R =&l 2,500 2,500 0
03 Al =X H R =& 2,500 2,500 0
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09 HALAHIEA S 5,000 490 4,510
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20,000,000 x 1Al 20,000
OALALE Z=EHIIGH A 232 AFSEH|
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01 A& HI 50,000 50,000 0
ousesdzx=yd 50,000,000& =14l 50,000
Xl 40,000
= 3,000
[ia 7,000
=XS2F 2E (XA 713,629 301,421 412,208
401 Al HIZ 201 8] 713,629 301,421 412,208
01 A& HI 710,000 298,000 412,000
OMEFH =X328 AAF22]
100,000,000 =14 100,000
Odgx=8 UF2E URHI AL
50,000,000 =14 50,000
O=X&&d Ar=2tel 20,000,000& =100 A& 200,000
OZAZA E3t)iel =4 100,000,000 » 14 100,000
O23¢ & Jt2¥ FHI(SH)
20,000,000& =130 S ™ 260,000
03 A& S THHI 3,629 3,421 208
O=sXE2t ZEAY A4 20t
1,910,000, 000& *0.19/100 3,629
ANXRHMEAN=, o=, 2, ¥t € 24 114,592 73,084 41,508
A (KA
201 LEt2A | 2,360 960 1,400
01 AtR 22l | 1,400 0 1,400
oz2g+g 1,400
~SNYSY THB ORI =Y
70,000& x10H 23 1,400
02 =224l 960 960 0
02223 % HA 960
— QY E A= JH2E HIIR3
80,000& x12& 960
401 AIEHI L 2 CHYI 112,232 72,124 40,108
01 A& HI 110,000 70,000 40,000
OF2 28 Jt2= A 50,000,000 »14! 50,000




SN MESXD
HE: T2 oYX (SYHYLL/YY - ME)
Sl 2oy x4 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OF=02 AgE =+ AX
30,000, 0002 * 14! 30,000
OUADIS D24 ATY 30,000,000 *14! 30,000
03 Al& S ThHI 2,232 2,124 108
O%24 AT L AZ22 2oyl

310,000,000 *0.72/100

2,232




